

◎計算しましょう。途中の計算を書くこと。

答えは帯分数でも仮分数でもよいです。

$$\textcircled{1} \quad 2\frac{2}{3} + \frac{3}{4} = \frac{\quad}{3} + \frac{\quad}{4} = \frac{\quad}{12} + \frac{\quad}{12} = \frac{\quad}{12}$$

$$\text{または} = 2\frac{\quad}{12} + \frac{\quad}{12} =$$

$$\textcircled{2} \quad 3\frac{1}{2} + 2\frac{3}{4}$$

$$\textcircled{3} \quad 3\frac{2}{3} + 2\frac{4}{5}$$

$$\textcircled{4} \quad 2\frac{3}{5} + 1\frac{1}{7}$$

$$\textcircled{5} \quad 3\frac{1}{2} + 1\frac{5}{6}$$

$$\textcircled{6} \quad 2\frac{1}{4} + 1\frac{2}{3}$$

$$\textcircled{7} \quad 3\frac{2}{3} + 1\frac{5}{6}$$

$$\textcircled{8} \quad 1\frac{1}{2} + 3\frac{5}{6}$$

$$\textcircled{9} \quad 2\frac{1}{3} + 2\frac{1}{2}$$

$$\textcircled{10} \quad 2\frac{1}{2} + 2\frac{4}{5}$$

答え

$$\textcircled{1} \quad 2\frac{2}{3} + \frac{3}{4} = \frac{8}{3} + \frac{3}{4} = \frac{32}{12} + \frac{9}{12} = \frac{41}{12} = \text{---} =$$

$$\text{または} = 2\frac{8}{12} + \frac{9}{12} = 2\frac{17}{12} = 3\frac{5}{12} = \text{---}$$

$$\textcircled{2} \quad 3\frac{1}{2} + 2\frac{3}{4} = \frac{7}{2} + \frac{11}{4} = \frac{14}{4} + \frac{11}{4} = \frac{25}{4} = \text{---} =$$

$$\text{または} = 3\frac{2}{4} + 2\frac{3}{4} = 5\frac{5}{4} = 6\frac{1}{4} = \text{---}$$

$$\textcircled{3} \quad 3\frac{2}{3} + 2\frac{4}{5} = \frac{11}{3} + \frac{14}{5} = \frac{55}{15} + \frac{42}{15} = \frac{97}{15} = \text{---} =$$

$$\text{または} = 3\frac{10}{15} + 2\frac{12}{15} = 5\frac{22}{15} = 6\frac{7}{15} = \text{---}$$

$$\textcircled{4} \quad 2\frac{3}{5} + 1\frac{1}{7} = \frac{13}{5} + \frac{8}{7} = \frac{91}{35} + \frac{40}{35} = \frac{131}{35} = \text{---} =$$

$$\text{または} = 2\frac{21}{35} + 1\frac{5}{35} = 3\frac{26}{35} = \text{---} = \text{---}$$

$$\textcircled{5} \quad 3\frac{1}{2} + 1\frac{5}{6} = \frac{7}{2} + \frac{11}{6} = \frac{21}{6} + \frac{11}{6} = \frac{32}{6} = \frac{16}{3} =$$

$$\text{または} = 3\frac{3}{6} + 1\frac{5}{6} = 4\frac{8}{6} = 5\frac{2}{6} = 5\frac{1}{3}$$

$$\textcircled{6} \quad 2\frac{1}{4} + 1\frac{2}{3} = \frac{9}{4} + \frac{5}{3} = \frac{27}{12} + \frac{20}{12} = \frac{47}{12} = \text{---} =$$

$$\text{または} = 2\frac{3}{12} + 1\frac{8}{12} = 3\frac{11}{12} = \text{---} = \text{---}$$

$$\textcircled{7} \quad 3\frac{2}{3} + 1\frac{5}{6} = \frac{11}{3} + \frac{11}{6} = \frac{22}{6} + \frac{11}{6} = \frac{33}{6} = \frac{11}{2} =$$

$$\text{または} = 3\frac{4}{6} + 1\frac{5}{6} = 4\frac{9}{6} = 5\frac{3}{6} = 5\frac{1}{2}$$

$$\textcircled{8} \quad 1\frac{1}{2} + 3\frac{5}{6} = \frac{3}{2} + \frac{23}{6} = \frac{9}{6} + \frac{23}{6} = \frac{32}{6} = \frac{16}{3} =$$

$$\text{または} = 1\frac{3}{6} + 3\frac{5}{6} = 4\frac{8}{6} = 5\frac{2}{6} = 5\frac{1}{3}$$

$$\textcircled{9} \quad 2\frac{1}{3} + 2\frac{1}{2} = \frac{7}{3} + \frac{5}{2} = \frac{14}{6} + \frac{15}{6} = \frac{29}{6} = \text{---} =$$

$$\text{または} = 2\frac{2}{6} + 2\frac{3}{6} = 4\frac{5}{6} = \text{---} = \text{---}$$

$$\textcircled{10} \quad 2\frac{1}{2} + 2\frac{4}{5} = \frac{5}{2} + \frac{14}{5} = \frac{25}{10} + \frac{28}{10} = \frac{53}{10} = \text{---} =$$

$$\text{または} = 2\frac{5}{10} + 2\frac{8}{10} = 4\frac{13}{10} = 5\frac{3}{10} = \text{---}$$